Converting Between m and cm (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
« o . : _ o
S &0 o © 8* 35 & = 3 £
& £ T 2 8 18 8 z 3
: : ———————— : : > X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9
. Convert 390 cm to m
Convert 5.775m to cm
Convert45170cm to m
Convert 62 970 000 cm to m
Convert 37 050 000cm to m

Convert 6.7 m to cm

Convert 5955 m to cm

Convert 0.7369 m to cm

Convert 0.0961 m to cm

Convert 9 330 000cm to m

Math-Drills.com




Converting Between m and cm (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
% % ° 5 §i ig g E 5 =
& E T 2 5 135 8 E E z
: : — : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 390cm to m

3900cm+-10+-10=39m

Convert 5.775m to cm

5.775m X 10 X 10 = 577.5cm
Convert45170cm tom
45170cm =10+ 10 =451.7m
Convert 62 970 000 cm to m
62970 000cm + 10 = 10 = 629 700 m
Convert 37 050 000 cm to m
37050000cm =10+ 10 = 370 500 m
Convert 6.7 m to cm

6.7m X 10X 10 = 670 cm

Convert 5955 m to cm

5955m X 10 X 10 = 595 500 cm
Convert 0.7369 m to cm

0.7369m X 10 X 10 = 73.69cm
Convert 0.0961 m to cm

0.0961m X 10 X 10 = 9.61 cm
Convert 9 330 000cm to m
9330000cm +-10+10=93300m
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